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CLASS XII
GUESS PAPER
MATHEMATICS

Total Marks -100. Jime- 3h
Section — A, One marks each, Section — B, four marks Each, Section —.€, Six marks each

SECTION-A
1. Find the possible orders of the matrices having 12 element§?
2. Show that the function f(x)= x3+3x2+3x-7 is always increasingon'R.
3. Evaluate [ 11.9[X] dx
4. Probability of a success in an experiment of four trials is § Find the probability of no success?
5. Find the projection of a vector 21 - j + k onthevettor,) 1- 2]+ k?
6. differentiate log 7 x with respect to x.
SECTION-B
i 2x A" C3x— %3
7. Provethat tan’! (1_ Xz) +tanpl x Sjtan! (1_3X2)

8. If the function f:R—R given byf(x) 5 x+2 +3x +1 and g:R—R given by g(x) = 2x - 1, then find gof
and fog? OR
LetA={x € R: —\ &% < 1} = Bshow that f:A-B, given by f(x) = x|x| is bijective.

(b +¢)? a’ a?
9. Using the propertiesof déterminant show that | b? (c +a)? b? | =2abc(a+b+c)3
c? c? (a+b)?
2x—1, x<2
10. Find.the value'of k for which the function f(x) ={ k X =2 is continuous at x= 2
3x—1, x>2
11¢{Differentiate w.r.tx, y=tan! (%)
OR

Eindthe interval for which the function f(x) = x3 - 12x2 + 36x +17 is increasing or decreasing
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12. Find the equation of the tangent to the curve y =+/3x — 2, which is parallel to the line
4x - 2y +5=0

dx
13. Evaluate fm

3

TT . =
- Sin7x
dx OR Evaluate foz ———=dx
Sin7x + cos7x

COS2X—CO0S2
14. Evaluate [ —————

COoSX—cCcosa

-~

15. Find the unit vector perpendicular to the vectors (% +b_)) & (a— ZB) wherewa=1+j+ k,
and b=41-2j+ 3k
16. Find the coordinate of point, where the line )(3;2 = YTH = % intérseet the planex-y+z-5

=0, also find the angle between them. OR
Find the equation of the plane passing through the points, (1,1,2); (3,2,1) & ( 3,-4,-5).
. . . dy . (y Y LARY
17. Solve the differential equation x o sm(;)+ X-y sm(;) =0
18. The probabilities of A,B,C can solve a given problemare % 4 g, % tespectively. If all the three try to solve the
problem simultaneously, find the probability thatatileast one of them can solve the problem?

1+cos2x

19. Evaluate |

1-cos 2x

SECTION-B

20. Solve the Equations 2x +y #Z=7; %X-y-z=-4 ; 3x+2y+z=10

-1 3 3
OR Find the Inverse of the matrix by using elementary operation [ 5 2 1]
1 -2 4

21. Show that the right cireular cone of least curve surface area and given volume has an altitude
equal to V2, times the radius of the base.

T
22. Evalyate |/ [Zlogsinx dx

23:Draw arough sketch of (x,y =0),y2>4x and x2=> 4y, and find the area of the bounded region
byusing integration OR, Evaluate by using limit as sum ff(xz — x+ 1dx
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24.Find the equation of the plane through the line of intersection of the planes x + y + z =1 and 2x +
3y + 4z = 5 which is perpendicular to the plane 3x - 2y + 5z = 7, also find the distance_of the
plane from the origin?

25. A manufacture company makes two types of teaching aids A and B of Mathematigs for ‘elass XII.
Each type of A requires 9 labour hours of fabricating and 1 labour hour for finishingEach type of
B requires 12 labour hours of fabricating and 3 labour hour for finishing, fabficating'and finishing
the maximum labour available per week are 180 and 30 respectively. The'‘compahy, makes a profit
of Rs 80 and Rs.120 on each pieces of A and B. how many pieces of A and B should be manufacture
to get a maximum profit. Solve the problem by graphically. What is the'maximum profit?

26.1In a bulb factory machines A, B, C manufacture 60%, 30%, and 105 bulbs, respectively. 1% , 2%,
and 3% of bulbs produced respectively by A, B, C afe*found, to be defective. A bulb is picked up at
random from the total production and found to{be,defective. Find the probability that this bulb
was production by the machine A.
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